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AM Solutions

Because required shear/moments are at face of elements, simplified shear-moment diagrams can

be used.
VvV, =0-10=-10kips

V, =-10+128-1.5=13kips
V,, =1.3kips

vV, =13-1.0=03kip

Vi, =03kip

Vy =03-17-2+187=00kip

Caleulate moments from shear diagram:

M, = (1.3 kips)(2 ft)(— 10 kips)(1.5 f1) = —12.4 fi-kips
Mp, =0 (0.3kip)(2{1)=-0.6 fi-kip

THE CORRECT ANSWER [S: (D)

Influence line for shear at right side of B:

VBR from uniform load = arca under influence line x w

Vg, from point load = maximum value of inf{luence line x P
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Vg, = (1/2)(0.2)(60 [1)(1.0 kIf) + (1/2)(1.0)(60 f)(1.0 KIf) + (1.0)(LO kips)

= 46.0 kips

THE CORRECT ANSWER IS: (D)

K

Distribution factor = ——mor
2 K of joint

K = LLI— where L is constant
Kan= _22009 ~10

K e = 3’% — 20

OFp-n = 101+020 =033

DF,_ 101020 = 0.67

THE CORRECT ANSWER 1S: (A)
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